Mod 0703 — Worked Example

Subtracting boil-off from minimum stock (as per Mod 0698)

Min Stock Assumed lowest Thel K
26/09/2019, mcm Stock Level in past 3 Boil off stock level Usable Stock e lowest stoc
- (MSTLd) assumed in the
- years es methodology becomes
LNG term|na| A 1817 182 54 8 1689 negative for one of the
LNG terminal B 882 33.9 91.8 @ 391.1 terminals
46.8 6 2

LNG terminal C 569 62.8
Total 1084.1

Adding boil-off to minimum stock (as per Mod 0703)

Min Stock Assumed lowest
26/09/2019, mcm Stock Level in past 3 Boil off stock level Usable Stock
years estimate (MSTLd)
LNG terminal A 181.7 18.2 54 23.6 158.1
LNG terminal B 333.2 33.9 91.8 125.7 207.5
LNG terminal C 569.2 62.8 46.8 109.6 459.6
Total 1084.1 825.2
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The aggregate usable
stock exceeds the actual
stock level



